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1) What was the original meaning of the weighting curves “A”, “B”, “C”, etc.?
Only one answer, if exact gives +3, if incorrect gives -3
· Each curve is suitable to a different type of noise: “A” is for residential areas, B for outdoor noise, C for factories, D for airports.
· Each curve is suitable for different range of levels: A is for low level (< 60 dB), B for medium levels (60-80), C for loud levels (80-100) and so on
· It was left to national regulations to choose which curve to employ, and Italy did choose A 

· It was left to the acoustical consultant to choose the curve to employ, based on his experience
· It was mandated to measure with all the available curves, and to use the one giving a larger value.
2) Two different machines are contributing to the soundfield in a room, at a given point. Select the physical quantities which benefit of the additive property (the value when both sources are active is the simple sum of the values of the two separate sources).
Multiple answers allowed - +2 in case of correct answer, -2 for each wrong answer

· Sound energy density (J / m3)

· Sound intensity (W / m2)

· Sound pressure level (dB)

· Sound pressure (Pa)

· Sound pressure squared (Pa2)

· Particle velocity (v)
3) Exercise (tolerance +/- 0.5 dB) 
A sound source is placed on the reflecting floor inside a room, and it has a power level Lw=100+D dB. A. Compute the average values of the following quantities on the surface of an hemisphere, centered on the source, having a radius equal to the critical distance, which resulted to be 2+E/10 meters.

· Sound Intensity Level Li


                          dB
      
(5 points)


· Energy Density Level Ld

      

             dB
       
(5 points) 


· Reactivity Index RI=Ld-Li 

     


dB
       
(3 points)

4) Exercise (tolerance +/- 0.5 dB)




An omnidirectional point source, radiating incoherent noise, is located above the partially reflecting floor (α=2+E/20), at an height of F/10+1 m. The Sound Power Level Lw is equal to 100+D dB.
A microphone is located at an horizontal distance of 10+E m, and at an height of C+10 m above the reflecting ground.

Determine the following values of the SPL at the microphone.

· Direct Sound SPL



                 

dB       
(5 points)


· Reflected Sound SPL



                 
dB       
(5 points)


· Total Sound SPL



                 

dB       
(3 points)

E





D





C





B





A











F





R





C+10








S





F/10+1








10+E











